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1. Bsrsr ABC #, AB 3R AC sfsmsit W D 3R E %#er: &Y g 37 ae & & DE || BC 3R
AD/BD = 5/6 §| AABC & T ¥#Ha« Iqs{sl DECB & &% HT 3HUTd &:
(A) 96 : 121(B) 36 : 121 (c) 121 : 96 (D) 121 : 36
Ans. C
2. AABC & BE 1 AC,CD 1L ABAUTBE 3i¥ CD W¥W UT&-g@ &' O W Fed | 20BC A 20CB
& gA-gaAes P W fAwa }) afy £BPC = 148° &, @Y A &1 A 41 ghi?
(A) 64° (B) 28°(C) 56° (D) 32°
Ans.. A
3. In APQR, 2Q > «R, PS is the bisector of P and PTL QR. If 2SPT = 28° and 4R =
23°, then the measure of 2Q is:
(A) 79° (B)89°(C) 74° (D) 82°
Ans. A
4. APQR &7 37a:$g S ¥ Iy PSR = 125° §, @ LPQR & AT FA1 gref?
(A) 75° (B)80°(C) 70° (D) 55°
Ans. C

5. AABC #, ZATS GH®HIOT g| AC 3R BC & ofar$ &#er: 6 cm 3R 10 cm 3] &g D, AB
s YhK ¢ T BD = 4 cm 8| CD & =€ 41 87

(A) 313 cm (B)2vV10cm (C) 3v10cm (D) 2v13 cm
Ans. D

6. TF AABC #, /B3R £C & wagfasms® fa & 3y O g W e §] 3R 2BOC =
148°%, A LA FTHIIE:

(A)87°(B) 29° (c)116° (D)58°

Ans. C

7. The sides AB and AC of JABC are produced to points D and E, respectively. The bisectors of
2CBD and £BCE meet at p. if LA = 72°,then the measure of 2P is:

(A) 36° (B) 45° (C)60° (D)54°

Ans. D

8.In AABC,D is a point on side AB such that BD = 2cm and DA=3 cm. E is a point on
BC such that DE||AC, and AC = 4 cm. Then (Area of ABDE) : (Area of trapeziumACED)is:
(A)4:21 (B)2:5 (C) 1:5 (D)4:25

Ans. A

9. AABC 3, AB =7 cm, BC = 24 cm 3R AC = 25 cm 3| IR G 3w &1 ¥ &, &Y BG

#r Jar$ (cm #H) o« 82


mailto:apanacareerssm@gmail.com

(A) 82 (B) 10 (C) 9 (D) 8
Ans. D
10. AABCH, 3w AB 3R AC wT %#er D 3R E g s& woR & & DE || BC | af& DE : BC
3:5 %, a (AADEFEITHA ) : (IJ3sr DECB FT &19%a) ¢
(A)3:4 (B)9:25 (C)5:8 (D)9 : 16
Ans. D
11. AABC #, 2B 3R £C % @H — gfdeiroreh Teh — g@X &1 fig D W Hied ] 39N 2 BDC =
104° 8, AT 2A ST AT &
(A) 28° (B)26° (C) 32° (D)30°
Ans. A
12. AABCH,DIAD 1 BC ¥ 3R AE AFTHFGdIHTSThe| 3R 4B = 72°3R 2 € = 26°%, a
£ DAESTHTIFATE?
(A) 37° (B) 25° (C) 23° (D) 49°
Ans. C
13. A ABC &, 2 A = 90°%| 3PRBL3RCMATEIHIT &, ar:
(A) 3(BL? +CM?) = 4BC? (B) 5(BL? + CM?) = 4BC?
(C)4(BL? + CM?) = 5BC? (D) 4(BL? + CM?) = 3BC?
Ans. C
14. AABCHBD L ACE| BC W E % fdg ¥, 18T 2 BEA = x°| 39 £EAC = 38° 3 ZEBD = 40°
g, a x &1 A &
(A)72°(B)68°(C) 88° (D)78°
Ans. C
15. AABCH,D 3R EH: AC 3R AB 33T R g e, @R 2ADE = ~BE| IS AE = 8cm, CD =
3cm, DE = 6cm 31k BC = 9cm & & AD ghm:
(A)9 (B)7.5 (C) 6 (D)8
Ans. A
16. AABC & AB 3k AC 9T %#er: fiig D 3 E 3@ woR Rya ¢ % AD x AC = AB x AE @
Ife¢ LADE = 2ACB + 30° 3iR £ABC = 78° g, dl zA= ?
(A) 68° (B) 48° (C) 56° (D) 54°
Ans. D
17. AABD # C, BD #T @ity fg §| afy AB = 10 4+, AD = 12 93 3 AC = 9 F&ft &, &
BD = ?
(A)V10 ¥HY (B) 2V41 ¥HY (c) V41 ¥FY (D) 2vi0 &FHY
Ans. B
18. AABC & A &1 GH-gfaNTI% BC & D W fAwar §] Iy AB = 15 @), AC = 13 ¥+ 3k
BC =14 @At §, @Y DC = ?
(A) 6.5 §#Y (B) 8 @Y (C)8.5 ¥Hr (D) 7.5 ¥H
Ans. A

19. AT AABC ~AQPR3IX arA(‘ZEER) = 22| 9fGAB = 12cm, BC = 6cm3RAC = 9cm, @ QP STaRe:




(A)9 (B) 8 (C) 16 (D) 12

Ans. C
20. AT AABC ~AQPR3R ::Ei‘;gg = 2| 9fTAB = 12cm, BC = 6cm3iRAC = 9cmE, AIQRIRTRE:
(A)8 (B)9 (C)16 (D) 12

Ans. D
21. AABCH, £A ST HFG[d#TSTeh AD § it BC ! D W fAelarg| If¢ BC = a,AC = b 3iRAB = ¢, dTBD —
DC [AFITaf@d # & fohash sRIeX et

W) 2 = (p) X2

Ans. A

22. AABC#H, 2 BACHT HHEAHTSIH AD &, st BC @ D WX fA«ar &| 3@R AC = 21cm, BC =

12cm 3R BD #r &« DC & 2cm FH g, df T AB # &a1$
(A)14(B)10 (C)18 (D)15
Ans. D

ar (AABC) _
23. HTT AABC ~AQPR3‘ﬁT ar(APQR)

2 |9 AB = 12 cm, BC = 6 cm 3R AC = 9 cm &, AT QR ATR &:
(A)6(B) 12(C) 9 (D)15
Ans. A
24. AABCH,3oT AB IRBC W Fa- D IR EA Rgsa v ¢ & AD : DB = 2 : 3 3k

DE || AC & If& AADE &7 &% 18 cm? &, a AABC & &F%a (cm? &) FaT 3§72
(A) 54 (B) 75 (C) 40.5 (D) 45
Ans. B

25. AABC & a1 fsyer § fower 2B f@%aIor (obtuse) 3| CB # D @& woram 74T ¢ 3 AD,

CB WX w9dad & If¢ AB = 8cm, BC = 7cm 3iX BD = 4cm, & AC =X &:
(A) 15 (B) 14 (C) 12 (D) 13
Ans. D

26. AABCH,BCW #I§ &g D 37 R ¢ &% 2BAD =§ £ADC, zBAC = 87° 3 2C =
42° | ADB &I AT FATE?

(A)68°(B)78°(C) 94° (D) 102°
Ans. B

27. TF AABCH, £B 3R £C& wrgdienma®, s & iy fig O oX e 8] 3R A fReamam &,
ar Aefef@a [AFeat & ¥ Fia-ar a8 &7

a. (A) (< BOC = 180° — (4‘2—‘) (B) 2BOC = 90° + (4%)

b. (C) £BOC =90° — (£3) (D) 2BOC = 180° — (£A)

Ans. B
ar (AABC) _
28. ATAT AABC ~AQPR 3iR PR

2 %] M AB = 9 cm, BC = 6 cm 3R AC = 12 cm &, 3 QRSTUR &:
(A)16 (B)9 (C) 12 (D)8
Ans. D




29. 33T ABC #, AB 3R AC $[o3t X &Y fdg e D 3R E 3@ 99K ¢ f& DE || BC 3R
AD/BD = % ¥| WHerFa Iqe{sl DECB & &19%e &1 AABC & &19thel § 37edTd ¢

(A) 49 : 33  (B) 33 : 49 (C)40 : 49 (D) 49 : 40

Ans. C

30. 3T ABC & 3ia¥ UF Jod &/l 9107 8| I8 AB, BC 3K AC #fammait &t wwer: P, Q 3R R

faigat 9 Fwer wwar 3 Ik BP = 6.5 cm, CQ = 4.5 cm 3 AR = 55 cm g, @t

AABC &1 IRTATT (cm H)e:
(A) 66 (B)33 (C)22 (D)16.5
Ans. B

31. fFElY AABCH, £B 3R 2C& wwgfasmer®, Mosr & 3ew g O W @A 8] 39 ~BOC R

T g, A At Reeal & @ Sia-ar 98 82
(A) zA = 180° — «BOC) (B)zA = 2 (2BOC —90°)
(C) A = 90° + «BOC (D) zA = 2(90° — BOC)

Ans.. B
32. AT AABC ~AQPR 31X 2:&:(':;)) = = ¥ af AB = 12cm, BC = 6cm 3R AC = 9cm ¥ &
PR sUIeR #:

(A) 24 (B)8 (C) 9 (D) 12

Ans. A

33. AT ABC & 3a¥ TF gea 9«11 94T 8| I8 AB, BC 3K AC sfamait # waer: P, Q 3R R
faigat o Tt Far 8] 3R BP = 8.5cm, CQ = 6.5 cm 3 AR = 4.5 cm §, &

AABC %I IRTATT (cm #)g:
(A)49.5 (B) 35 (€)33 (D) 39
Ans. d

34. fasrsr ABC &, AB 3R AC sfammait X &) fiig #arer: D 3R E 59 @¥g ¢ 7% DE || BC 3K
AD/BD = % 8| AABC & &% FT WHdT dqslsr DECB & &9t ¥ Hequrd ¢
(A)40 : 49(B) 49 : 33(C) 49 :40 (D) 33 : 49

Ans. ¢

35. [T ABC & 3a¥ TF Jed T 14T 8| I8 AB, BC 3 AC a3t # Faar: P, Q 3R R
faigait 9 Fwel FIar §] 39 BP = 9. cm, CQ = 10 cm 3R AR = 11 cm §, @ AABC #'

qRfATY (cm &) &
(A) 75 (B) 57.5 (C) 60 (D) 72.5
Ans. C

36. TF AABC #, /B3R £CF wagfasmsrs Beer & 3iey O fig o et § 39 <A =
116° %, d zBOC T AT &

(A) 116° (B) 85° (C) 74° (D) 148°
Ans. D



37. fsfer ABC & 3eX Us goa T 7T @ I§ {3 AB, BC 3R AC & waer: g P, Q
3R R 9T T3 +ar 2| afe BP = 5.4 cm, CQ= 7.3 cm 31X AR = 6.1 cm, a'

AABC &1 9RTATT (cm H)e:
(A) 36 (B)37 (C)37.25 (D)37.6
Ans. D

38. Ifg Y et ABC 3K PQR & &iawal &7 39T 4 : 5 § 3 31 FASAT T Heq9rd 5 :
3 3| ferer ABC 3R fsfer PQR & 3MaRY 7 37T
a. (A)11:15 (B)12:25 (C)25:12 (D) 15: 11
Ans. B
39. AABCH, ¢B3R.C & gacfanes Msr & 3w fig O W e 3 afk
<A = 132 °d LBOCEH #HIT §:
(A) 156° (B)84° (C)66° (D) 132°
Ans. A
40. fa3rst ABC &, BC #1 oia1$ AB #I &aT$ & gl ¥ 3 cm FH g| AC # &ar$ AB &I aars
¥ 9 cm IfaF B Bera A aRIATY 34 cm 2| Beger Fr Fa@ S1& oo i & (cm A) 2
(A)9(B)8 (C)10 (D)7
Ans. D
41. AABCH, /B 3R 2C& gocfasmss Beer & 3w 0 W fAed 3 afx
A =110 °,dr zLBOC HT AT g:
(A) 55° (B) 145° (C) 110° (D) 84°
Ans. B
42. Pt ABC #, BC # &a1§ & g @ 3 cm & g| AC # oa1é, AB i &/a1$ ¥ 1 cm
Ffaw B Bee A aRfATY 34 cm | Beger & 81 sgam i &g (cm F) 2
(A)7(B)10 (C) 8 (D)9
Ans. D
43. AABCH, £B 3R £C & waA-gfasmers, Meer & 3ax O W faera &
3R £BOC = 106° g dl LA Fr ATT &:
(A) 84° (B) 16° (C) 32° (D) 106°

Ans. C
44. AT AABC ~AQPR 31X % = = % afy AB = 12cm, BC = 8cm 3 AC = 9cm §
aY RP ST&X §
(A) 18 (B) 15 (C)17.5 (D)20
Ans. D
45. AT AABC ~APQR 31X Z:Eiﬁz& — ¥ af AB= 12cm, BC =8cm 3l AC = 9cm & @t
QR W &
(A)25 (B)20 (C)15 (D)18
Ans. A

46. AABC#H,2A = 52° 3| $H#T oT AB 3 AC F#er: D 3R E a& Fer$ el g
39R2CBD 3R £BCE & wo-RfAss® g O W e ¥ @ sBoC TR &:
(A) 16° (B) 64° (C) 32° (D) 106°



Ans. B

47. In AABC,2A = 72°. Its sides AB and AC are produced to the points D and E

respectively. If the bisectors of the ~CBD and 2BCE meet at point O, then 2BOC is equal to:
(A) 106° (B) 32° (C) 54° (D) 16°

Ans. C

48. Let AABC ~AQPR and %289 = % | AB = 12cm, BC =8cm and AC = 10 cm, then QP

ar(APQR) 25

is equal to:
(A) 30 (B)18 (C)20 (D) 15
Ans. A

49. g% faar a1 ar & & AABC ~APRQ 3iR & ABC : 81 PRQ = 16 : 169 | afe¢ AB = x AC =y
BC = z (@Y cm #), af PQ FaT gem?

W7z BTy (©Tx  (D)Tx
Ans. b
50. TF WHHIOT AT ABC (2ABC = 90°) ¥ &= BC F#A’: P,Q,3R R W IR qawT sy #
fasmfora §] e AP+AQ%+AR? - 3b%+ 17na? ar n f»a& |ART BE?

(A)= (B) =1 (C) = (D)3

Ans. A

51.-AABC ~ADEF 3R 3=ty qRfATY Fer: 64 cm 31X 48 cm 8] I DE 9 cm & X &, &Y
AB &# oS FIT 872

(A)17.5 (B)12 (C)16 (D)18

Ans. B

52. A ABC #1 aRFATY 24 cm ¥ 3l 3@ oo BC = 9 cm 3| £ BAC#T @HgfasTsi® AD &,
Sdfd 3d:$g & Al : ID T &

(A) 3:2(MB)5:3(C)7:5 (D) 5:2
Ans. B
53. 9f& AABCHBC W fdg D 3@ woR ffua 8, % BD : BC = 2 : 5, @ &% (AABD) :
&Yl (AADC)ET 3eTUTcT FT 12

(A)4 : 9 (B)2 : 5 (C)2:3 (D) 1:2
Ans. C
54. AABCH 2ABC = 90° 3iRBD LAC & Ifd AD = 4cm 3k CD = 5cm, Y BD fFa& @A
gm?

(A)3v2em  (B) 2v/5cm (€) 3v/5cm (D) 4v/5cm

Ans. B

55. Ifd AABCH, £B3R 2C & ¥Hg s & 3T O W fAaa 3 I

£<BOC = 156° §,dl LA Fr ATT &:

(A) 132° (B) 156°(C) 66° (D) 84°

Ans. A

56. fasgsr ABC &, AB 3R AC s[amm3it WX &Y fag Farer: D 3R E 3@ woR ¢ i DE || BC 3R

AD/BD = % 3| WHerFa sl DECB & &1a%e &1 AABC & &Tthel § 3e]9Td ¢




(A)49 : 33 (B)33 : 49 (C) 40 : 49(D) 49 : 40
Ans. C
57. afy forelt freger & ol F @ vw 64°%, Y 357 o ARF AN F FA-SfAwEF F fi T F=
FUT -
(A) 122° (B) 96° (C) 100° (D) 112°
Ans. A
58. & fAssr ABC 3k PQR & &1l T AUt 3 : 5 § 3R 3Tt F1$ T 3rqured 5. 3 g
st ABC 3R (st PQR & 3TUR &1 39T &:
(A)2:1(B)9:25 (€)1:1 (D) 256 : 9
Ans. B
s9. frelt Rerer &1 IR, a:dg, dadg AR FF v § Wy § B g
(A) W(B)W(C) HHABIOT aﬂqﬁa@(o) qHETG

Ans. A
60. o am @ 5 vF e #1 swa A B sweh aRfAfa | sia:Rean, aRafsw sk
wiEgF3T A AET oS FAW p, r, R 3R d ] 3o A : p frwd qamer ghm?

(A) (R-r?:r@®Br r:1 ©MR-2:(R+n>:d (D)r:2
Ans. D
61. et woraTg frerst # O, G, | AN H Fwwr: uftdhy, HRear, ai: g 3N dwds §) 3ot @
Fla-a g vwwAET 772
(A)Faa O, G3IRH (B8)O, G, I 3R H (()Fawr O 3k 1 (D) %aw O 3k G
Ans. B

62. et BT ABC & 3iceiad Us gea 8] @8 AB, BC 3R AC s=m3it & ##er: P, Q 3k R
fagat wx Twt Far § IR AR = 5cm, RC = 6cm 3 AB = 12 cm ¥ &t B3t ABC &t
oA §:

(A)40 (B) 37 (C)32 (D)36
Ans. D

63. fX3sT ABC #T &gF G 8, 3$T T AB, BC 3R CA F#er: 7 cm, 24 cm 3K 25 cm 2]
BG &1 A §:

(A)4% cm (B)8§ cm (C)6§ cm (D)S% cm
Ans. B
64. APQRH, QT L PRE3S, QRIUATNGsHIhReieh PSQ = p ° & ITG £ TQR = 46°HR~ SPR =
32°%, dlpHIHAlelg:
(A) 76° (B) 78°(C) 82° (D) 72°
Ans. A
65. AADCH, E 31X B %aer: e AD 3R AC X g s& woR &8, & ZABE = £ADCE| If% AE
=6cm, BC=2cm, BE=3cm 3k CD =5 cm & a (AB + DE) &Y &:

() 22 cm (B)?cm (C) 14 cm (D) 16 cm



Ans. A

66. AABCH, AB 3T AC 3T R &aAer: &g F 3R E 597 ¥R § 7 FE || BC @41 FE s
AT AThe drad ar HE ¥ fasnfaa w3t 8] IfE AD L BCHRAD, g G W FE &I Fedt §
dr GD : AG = ?

(A)v2:1  (B)(vVZ+1):1(C)2vV2:1 (D)(vV2—1):1

Ans. D

67. frElY ffsr ABC & 3iadiad TF ged airT 14T 8] @€ AB, BC 3R AC srammat #t AW R,
P 3k Q fgat 9 Twel #war 8] IR AQ = 4.5 cm, PC = 55 cm 3R BR = 6 cm g, at

fasger ABC # aR&TT &:
(A) 26.5 (B) 28 (C) 30.5 (D) 32
Ans. D

68. TF f3sr ABC ¥ 3Hadld TF gedl, fWHT g O ¥ FIRT a7 | AO H! Fglat W d§ ool
N K 9 fAear § 3R ADL BCE| I 2B = 80° 3R 2C = 64° §, AT LDAK HI AT &

(A) 10° (B) 12° (C) 20° (D) 16°

Ans. D

69. AABC, 7 AD 1 BC3BE L ACE| AD 3R BE U&-g@t # F W #lead 3] afx BF=AC &, at
£ABC &Y A1 1 8191

(A)60° (B)45° (C)50° (D) 70°

Ans. B
70. AABC, ADEF & THET §| AABC &7 &19% el 100 cm? § 3T ADEF &7 &19%d 49 cm? 8| afe AABC
&1 eofifeid 5 cm &, dY ADEF &1 Horad efisera gom:

(A) 4.5(B) 6 (C) 7 (D)3.5
Ans. D

71. In a AABC, the sides AB and AC are extended to P and Q respectively. The bisectors of
<PBC and 2QCB intersectat a point R. If 2R = 66°,then the measure of ZAis:
(A) 72° (B)48°(C)36° (D) 24°
Ans. B
72. AABC FY [T 6 cm, 7 cm 3 8 cm 3| IR I3 FIT FT GHGIAHTSF AR dTell [l I
& @st A fasniora FXar §] o @s i Jars fhast 82
(A) Zs—lcm (B)%cm (C) i—gcm (D)gcm
Ans. D
73. APQRFMUHIa W fPua ¥, @@ $5 O 8] SR gew & fig R o ¥wel @ 3] 3f¥ QR,
<ORS &' & S AR H diear §, dF 2 RPQFT AT fhdar &2
(A) 45° (B) 60° (C) 40° (D) 30°
Ans. A
74. AABC# AD, 2A # AT #Iar § 31X BC &' D WX &rear 8| Ify BC = a, AC = b
T AB =c & a BD =?
(A) == (B) = (C) == (D)

bc
c+a



Ans. A
75. AABC # 3T AB 3R AC & %o P 3R Q a% aorm o= @ Iy

£PBC 3R £QCB & @HAgAsT=I® O T Fed §, 3R 2A = 92° %, dr LBOC T &:
(A) 88° (B) 44° (C) 46° (D) 42°
Ans. B

76. AABC #, LA TS FH®IOT g| AC 3R BC # «aré %#er: 6 cm 3K 10 cm 3| &g D, AB
W 59 YR g & BD = 4 cm & CD & 9«1 F41 87

(A)3vV13cm (B) 2V10cm (€)3V10cm (D) 2vV13cm
Ans. D
77. AABC #, AD, £A &I & &R AN H diedr § st BC & D w f&«ar 8] afe BC = a, AC
=b3iRAB=cg @ DC = ... |

W= (B (= (D)=

a+c a+b

Ans.

78. AABC &, AML BC 3N AN, £A & GAGAHS® o] I
2B =55 3IR2C=35°%d «.MAN FI AT FIT§?
(A)12°(B) 10° (C)5° (D) 15°

Ans. B

79. AABC &, AD AIfAI#T S| AD R Gsa ae A Mg e F AG: GD =2 : 1 arar
(ABDG) : ar (AABC) for&ieh STeR glem?
A)1:3 B)1:4 (€()1:9 (D)1:6
Ans. D
80. AABC ~ ARQP 3R AB = 4 cm, BC = 6 cm d41 AC = 5 cm @] I ar (AABC) :
ar (APQR) =9 : 4 §, d PQ fFa® & gmn?
(A)4(8)3(C) = (D)2
Ans. A
81. AABC #, AD #fagraT 8| AD W G 5% @¥e & fag & % AG : GD = 2 : 1| &t ar(A ABG) :
ar (AABC) fraad S&X gem?
(A)1:5 B)1:6 (¢c)1:3 (D)1:4
Ans. C
82. AABC ¥ 9l AB = 16 cm, AC = 63 cm, BC = 65 cm & A ¥ 8T BC & #¥ fag M
d% TH Tl @1 AM @ S @) AM Y dard SR

(A) 24.5 (B) 23.5 (C) 32.5 (D)31.5
Ans. C

83. AABC ~ AEDF3iRAB =5 cm, BC= 8 cm, a4T AC = 10 cm | af¢ ar(AABC) : ar(ADEF) =
9 : 4 g o DF frus sET ghem?



20

10 32 16
OGRS

Ans. C

84. AABC~A QRP 3k PQ = 6 cm, QR = 8 cm, 94T PR = 10 cm 2] af¢ ar(AABC) :

ar(APQR) = 1 : 4 §, @ AB f»u® T&X grm?
(A)3(B)4(C)5 (D)2
Ans. B

85. AABCH, AD ATfa#1 3| AD R g P 3@ R @ ¢ A AP : PD =3 : 4 &, @Y ar
(A APB) : ar(AABC) fhgeh sRTeX g1IT?

(A)3:7 @B)2:7 (€)3:4 (D)3:14

Ans. D

86. AABC ~APRQ 3R PQ = 4 cm, QR = 7 cm 3k PR = 8 cm #| 3f¥ ar(AABC) :
ar(APQR) =1:4%, a AC W= &:

(A)2(B) 1(C) 3.7 (D)4
Ans. A

87. AABC &, AD U& A& § IR AD W s Mg P s@ v & F AP : PD = 3 : 4 §, @,
ar(ABPD): ar (AABC) sRTsR §:
(A) 4:7 (B)2:5 (¢)1:3 (D)2:7
Ans. D
88. AABCH,BC W P 3% YR & fig ¢ & BP.: PC = 1 : 2 ¥ 3k Q g, BP #1 71w fig
% @ ar (A ABQ) : ar (AABC) IR §:
(A)1:5 B)1:3()1:4 (D)1:6
Ans. D
89. AABC ~AQPR 3R AB = 8 cm, BC = 12 cm d41 AC = 6 cm &| If¢ ar(AABC) :
ar (APQR) = 16 : 25 §, @Y RQ f»u® &R gem?

(A) 7.5 (B) 12.5 (C) 15 (D)10
Ans. A

90. A ABC #, BC W P, o& fiig ¢ fow@& BP : PC = 2 : 3 3k Q fg, BP &1 7iew fag 8, &t
ar(AABQ) : ar (AABC) TsR &:

(A)1:4 (B 1:5 (2:3 (D)2:5

Ans. B

91. AABC ~ARQP 3 PQ = 10 cm, QR = 12 cm 4T RP = 16 cm &] ¥ ar(APQR) :
ar (AABC) = 2 §, A BC frurd sy gvom?

(A)6(8)8(C) % (D)=

Ans. C

92. AABC ~ARQP 3 PQ = 10 cm, QR = 12 cm @41 RP = 18 cm &| I¥ ar(APQR) :
ar(AABC) = ; §, @ AB frad aumaw gvm?

(8)2 (8)8(C) 9 (D) 12

Ans. B



93. AABCH BC W, P gg fig & f9w& BP : PC = 3 : 4 3k Q g, BP #1 7ty fg &,
ar(AABQ) : ar (AABC)STsX §:
(A) 3:8 (B)2:7 ()3:14 (D)1:4

Ans. C
94. In AABC,P is a point on BC such the BP : PC = 4 : 3 and Q is the midpoint of BP.
Then ar(AABQ) : ar (AACB) is equal to:

(A)1:5 (B)4:7 (C2:7 (D) 3:7
Ans. C
95. A ABC ~ AEDF 3X ar(AABC) : ar (ADEF)= 4 : 9. If& AB = 6 cm, BC = 8 cm @1 AC =
10 cm &, d@f DF sRm&R ghom:

(A) 9(B)12 (C)15 (D) 18
Ans. B

96. A ABC ~ AEDF 3iR ar(AABC) : ar (ADEF) = 1 : 4. ¥f¢ AB = 7 cm, BC = 8 cm d41 CA =
9 cm, dY DF <= &

(A) 16 (B)18 (C)14 (D)8
Ans. a

97. MABCH, BC Rt Mg P su ysR ¢ fF BP : PC =4 : 5§ Q, BP %1 #ey g ¢, &t
ar(AABQ) : ar (AABC) sRTEX §:

A)2:9 @B2:5 (()1:9 (D)1:3
Ans.. A
98. AABC &, BC W t& fdg P 39 woR & f& BP : PC = 4 : 11. Q, BP & #iew f3g 3
ar(AABQ) : ar(AABC) €T §:
(A)2:15 (B)3:13 (C)2:11 (D)2: 13
Ans. A
99. AABC ~ANLM 3R ar(AABC):ar(ALMN) = 4 : 9, gf& AB
cm g, @ ML sXreR 219m:

(A)6 (B) 18 (C)9 (D) 12
Ans. D

100. AT AFIT AABC~A QPR 3T TED = 2 3 afx AB

ar (APQR)
cm &, d PR =T &

(A)16 (B) 8 (C) 12 (D)9

Ans. B

101. g T I & fF AABC ~APRQ 3R &1 ABC : &9 PRQ = 16 : 169 | afe AB = x AC
=y BC = z (@sft cm #), &Y PQ FaT gYm?
(A) Tz BTy (€ Tx (D)X

6 cm, BC =8 cm d41 AC = 12

12 cm, BC = 6 cm 3R AC = 9

Ans. B



102. T WHHIT AT ABC (2ABC = 90°) 3 $[aTT BC A P, Q 3R R W IR FATA Hrat 7
fanfara 8] I AP?+AQ%+AR? = 3b%+ 17na? &' n fFaF TATT ghem?

(&) —z(B) -2() $ (D -

4
Ans. A
103. AABC ~ADEF 3R 3ahr qRTATY FaAer: 64 cm 31X 48 cm 8] I DE 9 cm & & &, Y

AB # oS FIT 872
(A) 17.5 (B) 12(C) 16 (D) 18
Ans. B

104. Rt woraTg Psger o O, G, | 3R H Fover: Wy, HRywr, sfa: Fg 3 dadhs §) g9t @
Fla-a g vwwAET 37

(A)Faear O, G IR H (B)O, G, | 3R H (c)&aser O 3k | (D) %a« O 3R G

Ans. B

105. A ABC #r 9RfATY 24 cm & 3R 3wHr §fa1 BC = 9 cm 3| 2 BACH @ocfass® AD &,
SafF 3id:Hg & Al : ID e &

(A)3 : 2 (B) 5:3 ()7 :5 (D) 5: 2

Ans. B

106, If& AABCHBC X fig D 37 ¥R ya ¢, f& BD : BC = 2 : 5, d &% (AABD) :
&1l (AADC)RT 3eTUTT T IaTT?

(A)4 : 9(B) 2:5 (€©)2:3 (D) 1 :2

Ans. C

107. AABCH £ABC = 90° 3iR BD L ACg| I AD = 4 cm 3R CD = 5 cm, A BD foh&ieh THTT gloT?

(A) 3v2 (B) 24/5 (C) 3V5 (D) 4V5
Ans. B

108. AABC &, AB = 6 @#Y, AC = 8 ¥+ 3iix BC = 9 9#Y 8| mfCusr AD i d=1s &

V317 V313 V115 V119
(A) =~ (B) 5= (C) == (D)=
Ans. D

109. AABC & A =52° 3R O & fgsr #1 &7 &g ¢ (BO 3 CO @« #mr: E 3R F © AC
Td AB ¥ fAaa § I« 3+% Wisgw fFar Smar 8) af 20BC 3R 2ocBEFEfade® P W e §,
ar BPC &

(A)124° (B) 132° (C) 138° (D) 154°

Ans. D

110. AABC #, AB = 7 @41, BC = 10 @1 3ilx AC = 8 @+ 8] I AD, ~BAC &T Hlur
gfasmer® ¢, SieT D, BC W & g 5, oY BD fwafaf@a & @ frwd sy 372

(M) (B)2(C) 2 (D)5

Ans. A

111. AABC &, D 3R E F#eT: AB 3R BC ¥amat @¥ 39 y&K fag & @ DE | Ac 3] afx AD :
DB = 5 : 3, df ABDE 3 @&eld ACED & &1I%el T [T 4T &7



(A) 9:55 (B)9:64 (C)4:25 (D)1:6

Ans. A
112. AABC #, <A = 58° #| IRy | Pefer &1 3fa:dg § v £BIC 71 AT &:
(A) 123° (B)109° (c)112° (D) 119°
Ans. D
113. AABC #T AB 3R AC #=nw &arer: P 3R Qearet 8] 2CBP3IR £BCQagfasmsr® R o e
§1 IR LAFAT44°8, NS LBOCHTATIFATE?
(A)34° (B) 32°(C)33° (D) 38°
Ans. A
114. AABC & $fiaR¥ T god a1 97 @ S %A P, Q3R R fdg3t w AB, BC 3k AC &t
et Far 8] IfE AB - BC = 4 @1, AB - AC = 2 @+ 3k AABC= 32 cm & 9R#WT &, &
PB + AR = Rwfaf@d & Fas wew &7
(A)= (B)12 ()13 (D)
Ans. A
115. AABC #, AB = AC 3t D, BC W % fag 8| afd BD = 5 @31, AB = 12 @+t 3k AD =
8 §HI, ar CD & &=g §:

(A)14.8 (B) 16 (C) 16.2 (D) 14
Ans. B

116. AABC 3R ADBC ®d 4R BC W § dfFer saT fAudia semait o 8] AD 3K BC &
g A O W FIed 8] I AO = a J&#Al, DO = b FaAT 3T AABC &7 &H%a = x FHA § ar
ADBC T &19%d (T A#T H) fFra«r &
M="x B)Tx (O:x (D)=
Ans. d
117. AABC #, AD, BE 3 CF #rfaR®mw, O w el 8] AAOE 3R AABD & &1a%el HT T
T gHM?

(A)3:2 B 5:2)(c) 2:1 (D) 3:1
Ans. D
118. AABC &, A, B 3R C & dwad &=t a§ Y@mw Rudla senst w aen D, E 3R F W
et 81 AD, BE 3R CF fig P W WX Fredht 8] afe 2EPD = 116° ¥ 3R
(AR /BHEAAH Q W fAed 8, ar LAQB Y AT fhas! gEfi?

(A) 96° (B) 64° (C) 122° (D) 124°
Ans. C
119. AABC & AB 3i¥ BC #amait @ D 3t E fig s& wor Rua & & DE|IBC 3R AD : AB
= 3 : 8 §] @9 (ABDE) FT &19%d : (I3 DECA FT &a%a) = ?

(A)8:13 (B)9:55(C) 9:64 (D) 25: 39
Ans. D
120. APQR & <P =120°,STTPSL QR 3X PQ + QS = SR &, df 2Q #r AT Fa1 gPN?

(A) 20° (B)50° (C) 40° (D) 30°



Ans. C

121. APQR #r faw PQ 3R PR Faer: S AR T Rigat w1 Wisgw Felt 8 2SQR3NLTRQ &
gfasme® U 9T fAed 8] 39R 2QUR = 79§, AT 2P & AT &

(A) 23° (B) 49° (C)41° (D) 22°

Ans. D

122. APQR #, X7 T a:¥g | I& £QIR = 107° AT LP FATE:

(A) 73°(B) 43° (C) 37° (D) 34°
Ans. D
123. AABC # /B &7 gfasiaid D # AC & faear 8] af AB = 10 &=, BC = 11 d# 3k AC

= 14 @AY §, @Y AD &1 AT &
(A) 7 ¥ (B) Zg—zwn (C) 6 |#HT (D)ZB—OM
Ans. D

124. & A fsr ABC 3 PQR &1 oR#ATT warer: 78 @+t 3ilv 46.8 ¥l ¥ afy PQ = 11.7
% @ AB #r wers ¥
(A) 23.4 ¥  (B)20 ¥FH (c) 24 /A (D) 19.5 =T

Ans. D

125. AABCH, 3= BC W D fdg 38 YR &ud & f& £ADC = £BAC gIdr &| Ife CA = 12
¥, CB = 8 ¥, dr CD fe=ifafld # forad SeR §7

(A)18 (B) 16 (C) 12 (D) 15
Ans. A



